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Chapter 11: The Passive 

In active sentences the subject of the sentence is the actor of the verb or the doer of 

the action. Ex. Jad kicked the ball. 

In the above sentence, the subject Jad is the actor of the verb or the one who kicked 

the ball. The direct object 'the ball' is the receiver of the verb action. 

In passive sentences the subject of the sentence is the receiver of the action. 

The ball was kicked by Jad. 

In the above sentence, the ball is the receiver of the action and is the subject of the 

sentence. Jad, the actor of the verb, is the object of the preposition by. 

Forming the passive: 

To form a passive sentence from an active sentence: 

1. Move the receiver of the action from the direct object position of the sentence 

to the subject position of the sentence. 

2. Insert the verb BE in agreement in number with the new subject and in the 

appropriate tense. 

3. Change the verb to its past participle form. 

4. Optionally place the actor of the verb in the object position after the 

preposition by. 

The boys ate the pie                      The pie was eaten (by the boys). 

 

Form of the passive: be + past participle 
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Tense Active Voice                 Passive Voice 

Present The boys eat the pie. The pie is eaten by the boys 

Present 

progressive 
The boys are eating the pie  The pie is being eaten by the boys 

Present perfect The boys have eaten the pie The pie has been eaten by the boys 

Past The boys ate the pie The pie was eaten by the boys 

Past 

progressive 
The boys were eating the pie  The pie was being eaten by the boys 

Past perfect The boys had eaten the pie   The pie had been eaten by the boys 

Future The boys will eat the pie   The pie will be eaten by the boys 

Future The boys are going to eat the pie.   The pie is going to be eaten by the boys 

Future perfect The boys will have eaten the pie    The pie will have been eaten by the boys 

 

Exercise 1. (p.209) 

 

Check your Answers: 

1. is opened                                                        2. is being opened 

3. has been opened                                             4. was opened 

5. was being opened                                           6. had been opened 
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7. will be opened                                                 8. is going to be opened 

9. will have been opened                                    10. Is – being opened 

11. Was – opened                                              12. Has – been opened 

Exercise 3. (p. 210) 
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Check your answers: 

1. No change. 

2. The winning goal was scored by Jackie. 

3. No change. 

4. No change. 

5. The theory was developed by Dr. Ikeda. 

6. The cup was dropped by Timmy. 

7. No change. 

8. I was interviewed by the assistant manager. 

9. No change. 

10. The small fishing village was destroyed by hurricane. 

11. No change. 

12. No change. 

13. No change. 

14. After class, the chalk board is always erased by one of the students. 

15. No change. 

16. No change. 

17. No change. 

18. The fire was not caused by the lightning. 

19. The dispute is going to be settled by a special committee. 

20. Was the enemy surrounded by the army? 

21. Windmills were invented by the Persians around 1500 years ago. 
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Intransitive Verbs 

Intransitive verbs (verbs which do not take objects) cannot be used to form passive 

sentences. 

Some examples of common intransitive verbs: 

Come, die, go, happen, itch, occur, rain, rise, walk 

Examples: 

John came to the meeting    *John was come to the meeting (incorrect). 

The cat died in the street      *The cat was died in the street (incorrect). 

We went to the zoo              *We were gone to the zoo (incorrect). 

My back itches                    *My back is itched (incorrect). 

The incident occurred last week   *The incident was occurred last week (incorrect). 

It rained this morning                     *It was rained this morning (incorrect). 

Gas prices are rising again              *Gas prices are being risen again (incorrect). 

John walked to the store by himself *John was walked to the store by himself 

(incorrect). 

Measure Verbs 

There are a couple of measure verbs that also cannot be used in the passive. 

This ring costs a lot of money.    *A lot of money was cost by this ring (incorrect). 

This fish weighs a lot.            *A lot was weighed by this fish (incorrect). 

Modals and phrasal modals 

Present modals 

Active The boys can eat the pie 

Passive The pie can be eaten by the boys 

Past modals 

Active The boys could have eaten the pie 

Passive The pie could have been eaten by the boys 

The passive form:   Modal + be + past participle 

The past-passive form: Modal + have been + past participle 
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Exercise 11. (p. 219)
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Check your answers: 

1. should be told. 

2. should tell. 

3. should have been told. 

4. must be kept. 

5. must keep. 

6. could not be opened. 

7. could not open. 

8. may be offered. 

9. may offer. 

10. may have already been offered. 

11. may already have offered. 

12. ought to be divided. 

13. ought to have been divided. 
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14. have to be returned. 

15. has to return – will  have to pay. 

16. had better be finished. 

17. had better finish. 

18. is supposed to be sent. 

19. should have been sent. 

20. must have been surprised. 


